
Revision On The Upper Limb 
PART 1

1) All are true about clavicle, EXCEPT
One answer only. 
a) Only long bone which ossifies in membrane b) First bone to ossify 
c) Has one primary and two secondary centers of ossification 
d) Its medial end ossifies in cartilage 

Correct Answer: c

2) Which ligament transmits the weight of the upper limb to clavicle ?
One answer only. 
a) Acromioclavicular ligament 
b) Coracoclavicular ligament 
c) Costoclavicular ligament 
d) Coracoacromial ligament 

Correct Answer: b

3) Cutaneous nerve supply of the skin covering the top of shoulder is derived from :
One answer only. 
a) Lateral pectoral nerve 
b) Lateral supra clavicular nerve 
c) Upper lateral cutaneous nerve of arm 
d) Suprascapular nerve 

Correct Answer: b
4) Intercostobrachial nerve is :
One answer only. 
a) Branch of medial cutaneous nerve of arm 
b) Branch of medial cord of brachial plexus 
c) Lateral cutaneous branch of first intercostal nerve 
d) Lateral cutaneous branch of second intercostal nerve 

Correct Answer: d

5) Deep surface of the mammary gland is related to A/E,
One answer only. 
a) Pectoralis major 
b) Serratus anterior 
c) Latissimus Dorsi 
d) Anterior wall of rectus sheath 

Correct Answer: c

6) Clavipectoral fascia is pierced by A/E :
One answer only. 
a) Cephalic vein 
b) Thoraco acromial artery 
c) Lateral pectoral nerve 
d) Medial pectoral nerve 

Correct Answer: d

7) Major portion of the lymph from the breast drains primarily into which of the following nodes ?
One answer only. 
a) Parasternal lymph nodes 
b) Lateral axillary lymph nodes 
c) Anterior axillary lymph nodes 
d) Posterior intercostal lymph nodes 

Correct Answer: c

8) Coracoid process of scapula gives attachment to all of the following muscles, EXCEPT :
One answer only. 
a) Pectoralis minor 
b) Short head of Biceps brachii 
c) Long head of Biceps brachii 
d) Coracobrachialis 

Correct Answer: d

9) If the axillary artery is blocked at the medial border of pectoralis minor, collateral circulation to upper limb can be maintained by all of the following anastomoses, EXCEPT :
One answer only. 
a) Suprascapular - Thoracoacromial 
b) Suprascapular - Circumflex scapular 
c) Circumflex scapular - Dorsal scapular *d) Thoracoacromial - Posterior circumflex humeral 

Correct Answer: a

10) All of the following statements regarding the ventral ramus of T1 are True, EXCEPT
One answer only. 
a) It supplies the muscles of first intercostal space 
b) It supplies the skin covering the first intercostal space 
c) It contributes to the lower trunk of brachial plexus 
d) Horner's syndrome occurs if the nerve is damaged close to its origin 

Correct Answer: b


11) Which of the following muscles is not supplied by branches of brachial plexus ?
One answer only. 
a) Trapezius 
b) Levator scapulae 
c) Rhomboideus major 
d) Subclavius 

Correct Answer: a

12) A lesion of the lateral cord of brachial plexus most likely leads to paresis of which of the following muscles ?
One answer only. 
a) Subscapularis 
b) Teres minor 
c) Pectoralis major 
d) Subclavius 

Correct Answer: c

13) Rotator cuff of the shoulder joint is formed by all EXCEPT :
One answer only. 
a) Subscapularis 
b) Teres major 
c) Supraspinatus 
d) Infraspinatus 

Correct Answer: b

14) Which nerve is most likely to be damaged by trauma that produces an anterior dislocation of the shoulder joint ?
One answer only. 
a) Axillary nerve 
b) Musculocutaneous nerve 
c) Median nerve 
d) Radial nerve 

Correct Answer: a

15) All of the following statements regarding the surgical neck of the humerus are correct, EXCEPT :
One answer only. 
a) Vascular ring formed by circumflex humeral arteries surround it 
b) Capsule of shoulder joint is attached on the medial aspect of the surgical neck 
c) Upper epiphyseal line passes through it 
d) Upper epiphysis fuses first with the shaft 

Correct Answer: d

16) A radio opaque dye was injected into synovial cavity of the shoulder joint. Which of the following bursae will be filled with the dye ?
One answer only. 
a) Subacromial Bursa 
b) Subdeltoid bursa 
c) Subscapular bursa 
d) Subcoracoid bursa 

Correct Answer: c

17) If the brachial artery is blocked proximal to the origin of profunda brachii artery, collateral circulation will be maintained by which of the following arteries ?
One answer only. 
a) Posterior circumflex humeral b) Subscapular 
c) Superior ulnar collateral 
d) Thoraco acromial 

Correct Answer: a

18) Which of the following muscles are not paralysed when the radial nerve is damaged at spiral groove level ?
One answer only. 
a) Anconeus and lateral head of Triceps 
b) Supinator and extensor carpi radialis bravis 
c) Long head and medial head of Triceps 
d) Brachioradialis and extensor carpi radialis longus 

Correct Answer: c

19) Damage to which pair of following nerves lead to complete loss of supination of foramen ?
One answer only. 
a) Median and Musculocutaneous 
b) Ulnar and musculocutaneous 
c) Radial and median 
d) Radial and musculocutaneous 

Correct Answer: d

20) Which nerve is damaged commonly due to increased pressure by a marked cubitus valgus deformity ?
One answer only. 
a) Ulnar nerve 
b) Median nerve 
c) Posterior interosseous nerve 
d) Anterior interosseous nerve 

Correct Answer: a
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21) Superficial forearm flexors supplied by median nerve include A/E :
One answer only. 
a) Flexor carpi radialis 
b) Flexor carpi ulnaris 
c) Palmaris longus 
d) Flexor digitorum superficialis 

Correct Answer: b

22) All of the following structures are supplied by Nerve to Anconeus, EXCEPT :
One answer only. 
a) Lateral head of Triceps 
b) Medial head of Triceps 
c) Anconeus 
d) Elbow joint 

Correct Answer: a

23) Tennis Elbow is :
One answer only. 
a) Increase in the carrying angle 
b) Decrease in the carrying angle 
c) Traumatic Bursitis of olecranon bursa 
d) Lateral epicondylitis 

Correct Answer: d

24) An intern inadvertently introduced air bubbles into the median cubital vein while giving IV injection. Which of the following organs is at the highest risk of air embolism ?
One answer only. 
a) Brain 
b) Heart 
c) Lungs 
d) Hand 

Correct Answer: c

25) Which of the following muscles of upper arm receives nerve supply from two different nerves ?
One answer only. 
a) Brachialis 
b) Biceps brachii 
c) Coracobrachialis 
d) Medial head of triceps 

Correct Answer: a

26) All of the following statements regarding the median nerve in the forearm are Correct , EXCEPT :
One answer only. 
a) It leaves the cubital fossa by passing in between the two heads of Pronator Teres. 
b) Its anterior interosseous branch supplies all the deep flexors of forearm. 
c) The condition of "pointing" index finger will occur if the nerve is damaged just above the middle of forearm. 
d) Just proximal to wrist it lies more superficially. 

Correct Answer: b

27) Median nerve supplies all of the following muscles acting on the thumb, EXCEPT :
One answer only. 
a) Opponeus Pollicis 
b) Flexor pollicis brevis, superficial head 
c) Abductor pollicis longus 
d) Abductor pollicis brevis 

Correct Answer: c

28) At the front of wrist radial pulse is palpable :
One answer only. 
a) Medial to tendon of palmaris longus 
b) Medial to tendon of flexor carpi radialis 
c) Lateral to tendon of flexor carpi radialis 
d) Lateral to tendon of Brachioradialis 

Correct Answer: c

29) Which is the most frequently dislocated carpal bone ?
One answer only. 
a) Scaphoid 
b) Lunate 
c) Triquetral 
d) Capitate 

Correct Answer: b

30) Occlusion of radial artery just distal to its origin is most likely to cause which of the following conditions ?
One answer only. 
a) A marked decrease of blood flow in the superficial palmar arch. 
b) Ischaemia of extensor muscles of forearm. 
c) A marked decrease of blood flow in anterior interosseous artery. 
d) A marked decrease of blood flow in princeps pollicis A. 

Correct Answer: d

31) All of the following muscles form the boundry of the anatomical snuff box, EXCEPT :
One answer only. 
a) Brachioradialis 
b) Abductor pollicis longus 
c) Extensor pollicis longus 
d) Extensor pollicis brevis 

Correct Answer: a

32) Which is the most frequently fractured carpal bone ?
One answer only. 
a) Lunate 
b) Scaphoid 
c) Capitate 
d) Trapezium 

Correct Answer: b

33) After falling on his outstretched hand a patient complains of tenderness in the space between Extensor pollicis brevis and extensor pollicis longus tendons. Which bone is most likely fractured by the injury ?
One answer only. 
a) Scaphoid 
b) First metacarpal 
c) Radial styloid process 
d) Trapezium 

Correct Answer: a

34) Which is the longest metacarpal bone ?
One answer only. 
a) Second metacarpal 
b) Third metacarpal 
c) Fourth metacarpal 
d) Fifth metacarpal 

Correct Answer: a

35) Examination of a patient reveals paralysis of the Abductor pollicis brevis muscle. All of the following can be sites of lesion that resulted in this paralysis , EXCEPT :
One answer only. 
a) Lower trunk of brachial plexus 
b) Lateral root of median nerve 
c) Medial root of median nerve 
d) Recurrent branch of median nerve 

Correct Answer: b

36) A middle aged woman suffering from myxedema, suddenly woke up one night by a severe bout of pain in her right wrist and middle finger. The pain seems to move up her forearm. After a thorough neurological check up her physician diagnosed her condition as Carpal Tunnel Syndrome.Which nerve is involved in this syndrome ?
One answer only. 
a) Median nerve 
b) Palmar cutaneous branch of median nerve 
c) Ulnar nerve 
d) Anterior interosseous nerve 

Correct Answer: a

37) In carpal tunnel syndrome which of the follwoing conditions occur due to motor deficit ?
One answer only. 
a) Claw hand 
b) Pointing index finger 
c) Benediction hand 
d) Simian hand 

Correct Answer: d

38) A patient exhibits weakness of Pinch grip ; other thumb movements are normal. There is no sensory loss in the hand. The probable cause is damage to :
One answer only. 
a) Posterior interosseous nerve 
b) Anterior interosseous nerve 
c) Deep branch of ulnar nerve 
d) Median nerve proximal to flexor retinaculum 

Correct Answer: b

39) Nerve damage that impairs the flexion of distal interphalangeal joints of index and middle fingers also produces which of the following conditions ?
One answer only. 
a) Atrophy of Hypothenar eminence b) Loss of adduction of thumb 
c) Similar impairment of flexion of distal I.P joint of little finger 
d) Weakness in pronation of forearm 

Correct Answer: d

40) A man is unable to hold a postcard between his index and middle fingers because of an injury to which of the following nerves ?
One answer only. 
a) Superficial branch of ulnar nerve 
b) Deep branch of ulnar nerve 
c) Recurrent branch of median nerve 
d) Posterior interosseous nerve 

Correct Answer: b
